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for the questions

1. Muitiple choice questions (one of the four
options in each question is correct, choogse
the correct onej : 1x10=10

fa) A number system that uses only two
digits, O and 1 is called as
fii decimal number system
fii} binary number system
fiii} bits number system
{iv) base number system

fb} Which of the following is a unit of
measurement with computer systems?
fij Byte
fii} Megabyte
fiii) Kilobyte
fiv} All of the above
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(2)

{c; The 1's complement of 1001[2] is
fii 0010
i) 0110

(i) 1111
fiv} 0101

{d) 101+1 is equal to
it 100
(i) 111

fiii) 011
fiv) 110

fe) SOP stands for
it sum on product
{ii) sum output product
i} sum of all products

{iv} sum of product

{fi, NAND gate, like a NOR gate, universal
and

fij functionally complete
fi) functionally incomplete
(iti) logically complete
{iv) logically incomplete
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(3)

fg} Octal equivalent of (34),, is
fij 42
fii) 27
fiii) 44
fiv) 40

fh} AND gate produces a high output only
) when both the inputs are

) low
fii) augend
fiii) high
fivy added

fi) Demultiplexer performs the reverse
operation of

il decoder
fii) multiplexer
ftii} combinational circuit

{iv) encoder

(f/ The value of each bit in the BCD
number is represented by a

i) binary number
fii} decimal number
{iii) gray code
fiv) ASCII code
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2. State whether the following statements are
true or false : 1%10=10

{a) Digital computer prefers counting

rather than measuring data.

(b) Binary number system is an example of
non-positional number system.

{c) A binary number with 4 bits is called a
byte.

(d} Binary equivalent octal number 56
is 101110.

fe} The NAND function is the complement
of the OR function.

(7 Half adder is an example of
combinational circuit.

fg} The basic multiplexer has several input
lines and single output line.

fhj A processor's speed is measured in
gigabytes.

fiy The logic function NOT operation is
logical complementation.

() Number of cells in K-map depends upon
the number of variables of Boolean
eXpression.
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3. Fill in the blanks : 1x10=10

fa)] A computer performs the given task
using set of —.

{b) The two symbols 0 and 1 are known
as

{c) A binary number with 4 bits, is called
a —.

{d) Decimal equivalent of binary 1001
is —.

fe) A hexadecimal number system uses
— digits.

{fli, A register stores the -——— information

fg} Double dabble method is also termed
as —.

fh) Boolean multiplication is same as the
logical —— operation.

{ A combination of NOT and AND gate is
termed as —.

/). Decoder converts binary information
from n input lines to a maximum —
unique output lines.
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{a)

(b)

{c}
{d)
fe)

g

fh}

f1)

o

(6)

Match Column—A with Column—B :

Column—A

Computer programs
are written using

Digital computers are
used for

Base two system
BCD code

The AND function is
referred as a

NOT gate produces a

The Karnaugh map
(K-map} contains boxes
called

The half adder
functions according to
the

A flip-flop is an
electronic circuit which
has two

The Arithmetic Logic
Unit (ALU) performs
arithmetic and
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{i

{it)

(it}
fw}
fv)

vi}

fvi)

{uiii)

fix}

x}

)

foxit)

{eit)

et}

1x10=10

Column—B

Data processing
Stable states

Logic operation
Cells

Binary number system

Weighted binary code

Negation

Addition

Truth table

Programming

languages

Addition
Octal number system
Product

Unstable
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5. Answer the following : 3x10=30
{a) Explain the octal number system.

{bp) How can you get 1’s complement of a
binary number?

fc) What is Excess-3 code?
{d) What is a logic gate?

{e)} Find the binary equivalent of the
decimal number 120.

{f) Define OR and AND operation.
{g What is a NAND and NOR gate?

fh) What is Karnaugh map? Explain with
examples.

{ii What are universal gates?

(i), What is a half adder? Explain.

Answer any two from the following :

6. {(a) Perform the following : 3%x3=9
{ii Find the octal equivalent of
100110101.
(i) Find the hexadecimal equivalent of
100110101.
{iti) Convert the decimal 123 to base-8
system.
(b) Differentiate among ASCIl, BCD and
EBCDIC code. 6
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?7. {a) Write the symbols and truth tables for
the following gates : 9

{ii AND

fiii OR

fiiii NAND

fiv} NOR
{b) Prove the following : 6
' fii A+AB=A

fiiy A+A'B=A+B

8. (a) Convert A+ B to minterms. o

{b) Explain with logic diagram the function
of a full adder. Write its truth tabile, 9
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